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NUMBER SYSTEM

Remainder Based

('ks"kiQy ij vk/kfjr)
Type-I

What will be the remainder.

('ks"kiQy Kkr djsa)

1.
137 139 1523 89 69

5

    

2.
327 229 533 69 59

5

   

3.
195 1958 1975 170

19

  

4.
1750 1748 1753 70 35

17

   

5.
77 85 73

9

 

6.
1330 1356 1363 1368 1397

13

   

7.
273 375 478 657 597

25

   

8.
4627 4672 4694 4624 4650

23

   

9.
10

+ 2 3 4 999+ + +------+

10.
24

+ 2 3 4 999+ + +------+

Find last two digits of following products-

fuEufyf[kr xq.kuiQy ds vafre nks vad Kkr dhft;sA
11. 223 × 599 × 397 × 473 × 96

12. 239 × 352 × 557 × 24 × 55 × 871

13. 373 × 192 × 299 × 96

14. 273 × 192 × 104 × 177

15. 187 × 92 × 194 × 44

Type-II
What will be the remainder.

('ks"kiQy Kkr djsa)

16.
6767

68

17.
2829

30

18.
138137

136

19.
2357238

239

20.
5555 55

56



21.
297297 1

298



22.
8888 88

89



23.
162162 1

163



24.
3837 1

38



25.
53 5153 51

52



26.
5757

8

27.
6464

9

28.
4825

13

29.
573344

7

30.
392

9



2

31.
542

9

32.
222

9

33.
563

20

34.
407

400

35.
572

56

36.
543

54

37.
2515

250

38.
5027

98

39.
7711

7

40.
1355

7

41.
3232

9

42.
3433

7

43.
222 888588 322

5



44.
5555 22222222 5555

7



45.
1 2 3 4 999 9 9 9 9

6

       

46.
1 2 3 1010 10 10 10

6

      

47.
 

323232

9

48.
 

323232

7

49.
 

353433

7

50.
6

5
67

89

Type-III

Divisibility Based (foHkkftr ij vk/kfjr)
Find Remainder ('ks"kiQy Kkr djsa)

1.
123456789101112 2425

8

  

2.
123456789101112 4950

16

  

3.
123456789101112 7475

125

  

4.
123456789101112 4142

25

  

5.
555555 55digit

7

   (vad)

6.
6666666 66digit

13

   (vad)

7.
6666666 96digit

111

   (vad)

8.
777777 98digit

111

   (vda )

9.
372372372372372

1001

10.
531531531531531531

91

11.
938938938938938938

37

12.
342342342342342342

143
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Type-IV
1. A number when divided by 7 and 8 successively leaves

remainder 3 and 2 respectively. What will be the
remainder when same number is divided by 8 and 7
successively.

fdlh la[;kvksa dks Øekraj :i ls 7 vkSj 8 ls foHkkftr djus ij
'ks"kiQy Øe'k% 3 vkSj 2 izkIr gksrk gSA mlh la[;k dks Øekarj :i ls
8 vkSj 7 foHkkftr djus ij 'ks"kiQy Kkr djsa\

2. A number when divided by 5, 4 and 3 successively leaves
the remainder 3, 0 and 2 respectively. What will by the
remainder when the same number is divided by 3, 4
and 6 successively.

fdlh la[;kvksa dks Øekraj :i ls 5, 4 vkSj 3 ls foHkkftr djus ij
'ks"kiQy Øe'k% 3, 0 vkSj 2 gksrk gSA mlh la[;k dks Øekarj :i ls 3,

4 vkSj 6 foHkkftr djus ij 'ks"kiQy Kkr djsa\
3. A number when divided by 6, 5 and 4 successively leaves

the remainder 1, 0 and 1 respectively. What will be the
remainder when the same number is divided by 4, 5 &
6 successively.

fdlh la[;kvksa dks Øekraj :i ls 6, 5 vkSj 4 ls foHkkftr djus ij
'ks"kiQy Øe'k% 1, 0 vkSj 1 izkIr gksrk gSA mlh la[;k dks Øekarj :i
ls 4, 5 vkSj 6 foHkkftr djus ij 'ks"kiQy Kkr djsa\

4. A number divided by 8 leaves remainder 2 and if the
quotient thus obtained is divided by 7 leaves remainder
3. What will be the remainder if same number is divided
by 7 and 8 successively.

fdlh la[;kvksa dks Øekraj :i ls 8 vkSj 2 ls foHkkftr djus ij
'ks"kiQy Øe'k% 7 vkSj 3 izkIr gksrk gSA mlh la[;k dks Øekarj :i ls
7 vkSj 8 foHkkftr djus ij 'ks"kiQy Kkr djsa\

5. A number divided by 7 leaves remainder 2 and if
quotient is divided by 6 leaves remainder 3. What will
be the remainder if same number is divided by 6 and
7 successively.

fdlh la[;kvksa dks Øekraj :i ls 7 vkSj 2 ls foHkkftr djus ij
'ks"kiQy Øe'k% 6 vkSj 3 izkIr gksrk gSA mlh la[;k dks Øekarj :i ls
6 vkSj 7 foHkkftr djus ij 'ks"kiQy Kkr djsa\

Type-V
1. A number when divided by 117 leaves the remainder

55. What will be the remainder if same number divided
by 13.

fdlh la[;k dks 117 ls foHkkftr djus ij 'ks"kiQy 55 vkrk gSA mlh
la[;k dks 13 ls foHkkftr djus ij 'ks"kiQy Kkr djsa\

2. A number when divided by 357 leaves the remainder
39. What will be the remainder when same number is
divided by 17.

fdlh la[;k dks 357 ls foHkkftr djus ij 'ks"kiQy 39 vkrk gSA mlh
la[;k dks 17 ls foHkkftr djus ij 'ks"kiQy Kkr djsa\

3. A number when divided by 361 leaves the remainder
52. What will be the remainder if the same number is
divided by 17.

fdlh la[;k dks 361 ls foHkkftr djus ij 'ks"kiQy 52 vkrk gSA mlh
la[;k dks 17 ls foHkkftr djus ij 'ks"kiQy Kkr djsa\

4. A number when divided by 141 leaves the remainder
25. What will the remainder if twice of this number is
divided by 47.

fdlh la[;k dks 141 ls foHkkftr djus ij 'ks"kiQy 25 vkrk gSA mlh
la[;k ds nqxus dks 47 ls foHkkftr djus ij 'ks"kiQy Kkr djsa\

5. A number when divided by 65 leaves the remainder 5.
What will be the remainder if the cube of this number
divided by 13.

fdlh la[;k dks 65 ls foHkkftr djus ij 'ks"kiQy 5 vkrk gSA mlh
la[;k ds ?ku dks 13 ls foHkkftr djus ij 'ks"kiQy Kkr djsa\

6. A number when divided by (x39 + 1) leaving the
remainder 29. What will be the remainder if the twice
of this number divided by (x + 1). If 12 < x < 14 and x is
a positive integer.

fdlh la[;k dks (x39 + 1) ls foHkkftr djus ij 'ks"kiQy 29 vkrk gSA
mlh la[;k ds nqxus dks (x + 1) ls foHkkftr djus ij 'ks"kiQy Kkr
djsa\ 12 < x < 14 x  iw.kkZad gS\

7. A number when divided by (x581 + 1) leaving the
remainder 37. What will be the remainder if cube of
the number divided by (x – 1). If x is the integer and 18
< x < 20.

fdlh la[;k dks (x581 + 1) ls foHkkftr djus ij 'ks"kiQy 37 vkrk gSA
mlh la[;k ds ?ku dks (x – 1) ls foHkkftr djus ij 'ks"kiQy Kkr djsa\
18 < x < 20 x  iw.kkZad gS\
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Type-VI

HkkT; = Hkktd × HkkxiQy + 'ks"kiQy

Divident = Divisor × Quotient + Remainder

Dt = Dr × Q + R

1. In a division sum the Quotient is 213, the divisor is 30
and the remainder is 19. What is the divident.

Hkkx ds ,d iz'u esa] HkkxiQy 213 gSA Hkktd 30 gS vkSj 'ks"kiQy 19
gS rks HkkT; Kkr djsa\

2. In a division sum the quotient is 95 and the remainder
is 55. The divisor is equal to the sum of quotient and
remainder. What is the divident.

1. 4

2. 2

3. 5

4. 12

5. 2

 ANSWER KEY

Hkkx ds ,d iz'u esa HkkxiQy 95 vkSj 'ks"kiQy 55 gS vkSj Hkktd
HkkxiQy vkSj 'ks"kiQy ds ;ksx ds cjkcj gSA Hkktd Kkr djsa\

3. In a division sum, the divisor is 8 times the quotient
and 4 times the remainder. What is the divident if the
remainder is 16.

Hkkx ds ,d iz'u Hkktd HkkxiQy dk 8 xquk vkSj 'ks"kiQy dk 4 xq.kk
gS ;fn 'ks"kiQy 16 gks] rks HkkT; Kkr djsa\

4. In a divison sum, the divisor is 4 times and quotient is
5 times the remainder which is 75. What is the number.

Hkkx ds ,d iz'u esa Hkktd 'ks"kiQy dk 4 xq.kk vkSj HkkxiQy 'ks"kiQy
dk 5 xq.kk gSA ;fn 'ks"kiQy 16 gks] rks HkkT; Kkr djsa\

Remainder Based

(Answer Key)

6. 9

7. 5

8. 14

9. 3

10. 9

11. 52

12. 20

13. 64

14. 28

15. 44

16. 67

17. 1

18. 1

19. 238

20. 54

21. 0

22. 0

23. 2

24. 2

25. 0

26. 1

27. 1

28. 1

29. 1

30. 8

31. 1

32. 7

33. 1

34. 1

35. 8

36. 27

37. 125

38. 49

39. 2

40. 6

41. 7

42. 2

43. 0

44. 0

45. 3

46. 4

47. 4

48. 4

49. 4

50. 4


